Viking Heklegarn

Inc, beg of row: Ch8, 2 yo over hook, insert hook in
5™ ch-st from the hook, make 1 tr + tr into next 3 ch-
sts, ch3 + 1 tr to 1% st of prev row =5 tr
Inc, end of row: [1 dtr around prev row’s dtr], rep

Table cloth 1406-1
Size 52 x70 cm
20.5 X 27.6 in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball

White, 800 2 balls

Crochet hook size 1,5 mm — US 7 — UK/Canadian 2.5

Gauge: 40 dc using crochet hook size 1,5 mm =
approx. 10 cm/4 in. Check your gauge to ensure
success.

until there is altog. five 3 dtr in a square.

Dec, beg of row: Work sl sts over the trebles you
need to dec.

Dec, end of row: Do not work over the trebles you
need to dec.

Crochet abbreviations:

st = stitch

ch (st) = chain stitch

sl st = slip stitch

sc = single crochet

dc = double crochet

tr = treble (2 yo over hook)

dtr = double treble (3 yo over hook)

Note: Beg all rows with ch4 =1 tr (also after dec),
there will be same number of dc at each edge of the
row

Ch224.

1% row: Beg from where arrow points out in the
chart: 1 tr to 5™ ch-st from hook, dtr to next 3 sts.
Leave on hook 2 Ips from last tr for forming a cross
(see explanation under chart). Finish the row in patt as
charted.

Cont crocheting back and forth in patt as charted until
work measures the desired length (given number of
balls is enough for 3 reports + edge). Turn work
upside down, and crochet triangle shaped corners to
cast-on edge.

Weave in all ends on WS.

Starch or press slightly.
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|:| =ch3, skip 3sts, 1tr

O =4tr

=leave on hook 2 Ips from last tr of prev square, 3 yo on hook (= dtr), skip 3 sts,
insert hook to 4th st, work off Ips 2 at a time until 1 st rem, ch3, 3 yo on hook,
crochet behind first dtr to form a cross: insert hook to prev square's last st, work off
Ips 2 at atime until 21ps rem, 2 yo on hook, insert hook to same st as first dtr, work off all rem Ips
2 atatime (=dtr)

Work 3 times , but leave 2 sts on hook between each cross



Viking Heklegarn

Inc, beg of row: ch8, double yo on hook, insert hook
to 5™ ch-st from hook, work off until 1 st rem+ tr to
next 3 ch-sts + 1 tr to 1% st of prev row = altog. 5 tr
Inc, end of row: [one tr to same st as prev tr], rep

Runner 1406-2
Size 35x92cm
13.8 X 36.2 in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball

White, 800 1 ball

Crochet hook size 1,5 mm — US 7 — UK/Canadian 2.5

Gauge: 40 dc using crochet hook size 1,5 mm =
approx. 10 cm/4 in. Check your gauge to ensure
success.

until there is altog. five tr in a square.

Dec, beg of row: Work sl sts over the number of sts
you need to dec.

Dec, end of row: Don’t crochet over the sts you need
to dec.

Crochet abbreviations:

st = stitch

ch (st) = chain stitch

sl st = slip stitch

sc = single stitch

dc = double stitch

tr = treble (2 yo over hook)

dtr = double treble (3 yo over hook)

Note: Beg all rows with ch4 = 1 tr (also after dec),
there will be same number of dc at each edge of
rows.

Beg work from arrow in chart. Cont working until
desired length.

Using hook size 1% mm, ch121. Turn, beg with first tr
to 51 ch-st from hook (ch4 = 1% tr), 4 tr. There is now
5 tr = 1% square in patt chart. Cont working from right
to left where arrow points out in chart. Turn, work 2"
row from left to right. Cont working back and forth,
dec and inc as charted.

Crochet 2 reports + «corner», or desired length.

Turn work upside down, and crochet triangle shaped
corner to cast-on edge.




x| [x PATTERN FOR RUNNER
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|

X X X X X X| <= Beg here

D =ch3, skip 3 sts, 1tr
O =4atr
=leave on hook 2 Ips from last tr of prev square, 3 yo on hook (=dtr),
skip 3 sts, insert hook to 4th st, work off Ips 2 at a time until 1 st rem, ch3,
3yo on hook, crochet behind first dtr to form a cross: insert hook to prev square's

last st, work off Ips 2 at a time until 2 Ips rem, 2 yo on hook, insert hook to
same st as first dtr, work off all rem Ips 2 at a time (= dtr)



Viking Heklegarn

Ch176 (= 171 ch-sts + 1 tr + 1 ch-st).
1% row: Crochet from right to left. 1 tr to 8" ch-st

from hook, [ch2, skip 2 sts, 1 tr], rep [ - ] across the

2" row: Ché, 1 tr to prev row’s tr, work same as 1%

3" row: Turn, and cont working as charted.

One strip:

Bedcover 1406-3
Size
Single 116 x 220 cm

49.6 X 86.6 in row.
Double 162 x 220 cm

63.8 X 86.6 in row.
King size 208 x 220 cm

81.9 X 86.6 in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball

Single Double King size

White, 800 8 11 14 balls

Crochet hook size 1,5 mm — US 7 — UK/Canadian 2.5

40 dc using crochet hook size 1,5 mm = approx. 10
cm/4 in. Check your gauge to ensure success.

Abbreviation:

st = stitch

ch (st) = chain stitch

sl st = slip stitch

sc = single crochet

dc = double crochet

tr = treble (2 yo over hook),

double treble = double treble (3 yo over hook)

Note: Beqg all rows withch4 =1 tr

Bed cover is worked in strips which are joined tog
lengthways, and borders on both longer sides.
Width of the bed cover depends on the total number
of strips.

1 row measures approx. 46 cm/ in in width.
Width of the border is approx. 12 cm/in.
Single bed: 2 strips + 2 borders

Double bed: 3 strips + 2 borders

King-size bed: 4 strips + 2 borders

Turn. Cont working back and forth as charted. Rep
patt 4 times (or until strip measures the desired
length) = one strip. Note: Beg 2" and 4" patt report
from arrow on left edge of chart. End with 2 rows of
ch-st squares, same as in the beg. Break yarn, and
draw through the Ip.

Finishing

Join strips by sewing or crochet them tog.

Border

Crochet borders along both longer sides.
For a wider border, work more ch-sts square rows.

BORDER
<—
T " Beg here
Repeat
[0 =ch2,skip2sts,1tr
|:| =3 xtr



PATTERN FOR BED COVER
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Beg here
2nd and 4th report Beg here

1stand 3rd report

|:| = ch2, skip 2 sts, 1tr
O =3xtr

=leave on hook 2 Ips from last tr of prev square, 3 yo on hook (= dtr),
skip 3 sts, insert hook to 4th st, work off Ips 2 at a time until 1 st rem,
ch3, 3yo on hook, crochet behind first dtr to form a cross: insert hook to prev square's last st,
work off Ips 2 at a time until 2 Ips rem, 2 yo on hook, insert hook to same st as first dtr,
work off all rem Ips 2 at a time (= dtr)



Viking Heklegarn

Pattern is worked sideways, beg from upper RH
corner, and work downwards other RH corner.

Row 1 (in patt): 1 dc to 4™ ch-sts from hook. 1 dc to

Table cloth 1406-4
Size: 80 X 90 cm
31.5x35.4 in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball
White, 800 3 halls

Crochet hook size 1,5 mm — US 7 — UK/Canadian 2.5

Gauge: 40 dc using crochet hook size 1,5 mm =
approx. 10 cm/4 in. Check your gauge to ensure
success.

Crochet abbreviations: ch (st) = chain stitch, sl st =
slip stitch, sc = single crochet, dc = double crochet

Using crochet hook size 1,5 mm, ch372.

each ch-st, altog. 370 dc (incl 1% dc = ch3).

Row 2: Turn: ch3, 3 dc, [ch2, skip 2 sts, 1 dc to 3" st],
rep [ - ] until 3 sts rem, 3 dc to last 3 sts.

Cont working back and forth as charted.

Note: Beg all rows with ch3 =1 dc, with same
number of dc at each edge of the rows.

When patt is ready, turn chart and crochet 2" half,
beg from arrow.

Break yarn, and draw through the Ip. Weave in all
ends on WS.



PATTERN TABLE CLOTH

Beg her
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2nd half [0 =ch2,skip2sts, 1dc
cont from here

|:| =3dc




Viking Heklegarn
1 big and 2 small doilies 1406-5 and 6

Crochet abbreviations: ch (st) = chain stitch, sl st =
slip stitch, sc = single crochet, dc = double crochet

Dec, beg of row: Sl sts over the dec sts.

Size, small doily 22 X 25cm
8.7x98in Dec, end of row: Do not work over the dec sts. a
Size, big doily 34 x 37 cm
13.4 x 14.6 in Note: Beg all rows with ch3 = 1 dc (also after dec).

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball

Off-White, 801
(Enough for all three doilies)

1 ball

Crochet hook size 1,5 mm — US 7 — UK/Canadian 2.5

Gauge: 40 dc using crochet hook size 1,5 mm =
approx. 10 cm/4 in. Check your gauge to ensure
success.

SMALL DOILY

There will be same number of dc at each edge of
the rows.

SMALL DOILY

Using crochet hook size 1,5 mm, ch112. 1 dc to 4%
ch-st from hook, work in patt as charted. Beg 1% half
from arrow, and work back and forth. When first half
is ready, break yarn, and draw through the Ip.

Turn work and chart upside down, and crochet 2"
half, starting from where the arrow points out.

Break yarn. Weave in all ends on WS

Beg here

Beg here

2nd half

1st half

[0 =ch2,skip2sts,1dc

OO0 =3dc




BIG DOILY When first half is ready, break yarn, and draw through
Ip. Turn work and chart upside down. Work same for
the second half. Note: Beg from 2" row as the arrow
points out. Break yarn. Weave all ends on WS

Ch157. 1 dc to 4™ ch-st from hook, work in patt as
charted. Beg from arrow, and work back and forth.

<—Beg here
1st half

[0 =ch2,skip 2sts, 1dc
O =3dc



Viking Heklegarn

Doily and coaster ~ 1406-7 and 8
Size: diameter approx. 40 cm
15.7 in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball
White, 800 1 ball

Crochet hook size 1 %2 mm — US 7 — UK/Canadian 2.5

Crochet abbreviations:

ch (st) = chain stitch — sl st = slip stitch — dc = double
crochet — tr = treble — dc-clstr = double crochet cluster

DOILY - COASTER

Ch12, join into ring with 1 sl st.

1%t rnd: 24 dc into ring (1% dc = ch3). End rnd with 1 sl st
to 3" ch-st beg of rnd.

2" rnd: Tr3tog to 1% dc (Tr3tog = leave last Ip of each tr
on hook, yo and draw through all Ips), 1% tr = ch4, ch4,
skip 1 dc, *tr3tog to next dc, ch4, skip 1 dc, rep from *.
End with 1 sl st to 1t tr-clstr = 12 tr-clstrs.

3" rnd: sl st to first ch-space, *5 dc round ch-space, ch2,
rep from *. End same as for first rnd.

4" rnd: *5 dc tog — ch5, 1 tr round ch-space — ch5*, rep *-
*, but Note! Last 5 ch-sts = ch2 + 1 dc to 1% dc-clstr.

5% rnd: *Ch6 — 1 sc round next ch-space*, rep *-*. Last 6
ch-sts = ch3 + 1 dc to prev row’s dc.

Note! End here coaster. Cont for doily until 22" rnd.

6" rnd: *Ch7 — 1 sc round next ch-space*, rep *-* across
the rnd. Last 7 ch-sts = ch3 + 1 tr to prev row’s dc.

7" rnd: *Ch8 — 1 sc round next ch-space*, rep *-* across
the rnd. Last 8 ch-sts = ch4 + 1 tr to beg of prev row.

8" rnd: *Ch9 — 1 sc round next ch-space*, rep *-* across
the rnd, end with 1sl st to tr beg of prev row.

9% rnd: Sl sts until mid first ch-space. *1 dc + ch2 + 1 dc
to mid st of 9 ch-sts — ch6*, rep *-* across the rnd. End
this and all rem rnds same as 1% rnd.

10™ rnd: Sl sts until 2 ch-sts between 1%t dc-pair. *2 dc +
ch2 + 2 dc round 2 ch-sts — ch5*, rep *-*.

11" rnd: Beg this and rem rnds with sl sts until 2 ch-sts
between 1% dc-clstr = 2 dc + ch2 + 2 dc (round prev rnd’s 2
ch-sts in dc-clstr). *1 dc-clstr — ch4*, rep *-*.

12" rnd: *1 dc-clstr — ch4 — 10 tr round 2 ch-sts in next
dc-clstr — chd*, rep *-*,

13" rnd: *1 dc-clstr —ch3 — 1 trto 15t tr of 10 tr (chl1 — 1 tr
to next tr) rep 9 times — ch3*, rep *-*.

14™ rnd: *1 dc-clstr — ch3 — 1 sc round ch-st between 1%
and 2" tr (ch4 — 1 sc round next ch-space) rep 8 times —
ch3*, rep *-*.

15" rnd: *1 dc-clstr — ch3 — 1 sc round 1% ch-space (4ch-
space) — (ch4, 1 sc round next ch-space) rep 7 times —
ch3*, rep *-*.

16" rnd: *2 dc + ch2 + 2 dc + ch2 + 2 dc round 2 ch-sts in
dc-clstr — ch3 — 1 sc round 1% ch-space (ch4 — 1 sc round
next ch-space) rep 6 times — ch3*, rep *-*.

17" rnd: * 1 dc-clstr — ch2 — 1 dc-clstr — ch3 — 1 sc rnd 1%
ch-space (ch4 — 1 sc round next ch-space) rep 5 times —
ch3*,rep *-*.

18" rnd: *1 dc-clstr — ch2 — 1 dc-clstr round 2 ch-sts — ch2
— 1 dc-clstr — ch3 — 1 sc round 1% ch-space (ch4 — 1 sc
round next ch-space) rep 4 times — ch3*, rep *-*.

19" rnd: *1 dc-clstr (ch3, 1 dc-clstr) rep 2 times (= 3 dc-
clstrs) — ch3 — 1 sc round 1* ch-space (ch4 — 1 sc round
next ch-space) rep 3 times — ch3*, rep *-*.

20" rnd: *1 dc-clstr — ch4 — 2 dc + ch4 + 2 dc round 2 ch-
sts in next dc-clstr — ch4 — 1 dc-clstr — ch3 — 1 sc round 1%
ch-space (ch4 — 1 sc round next ch-space) rep 2 times —
ch3*, rep *-*.

21% rnd: *1 dc-clstr — ch4 — 12 tr round 4 ch-sts in next
dc-clstr — ch4 — 1 dc-clstr — ch3 — 1 sc rnd 1% ch-space —
ch4 — 1 sc to next ch-space — ch3*, rep *-.*.

22" rnd: *1 dc-clstr — ch3 -1 trto 1 tr of 12 tr (ch1 — 1 tr
to next tr) rep 11 times — ch3 — 1 dc-clstr — ch3 — 1 sc
round ch-space — ch3*, rep *-*.

Embellish with white pearls and silver sequins (see photo).

Viking Heklegarn

Runner 1406-9
Size: approx. 120x30 cm
47.2x11.8in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball
White, 800 1 ball

Crochet hook size 1,5 mm — US 7 — UK/Canadian 2.5

Crochet abbreviations:
ch (st) = chain stitch, dc = double crochet, dc-clstr =
double crochet cluster

RUNNER

Using crochet hook size 1,5 mm and white yarn, ch84.
Note! Beg each row with ch3 = 1% dc. Work as foll:

1t row: 1 dc to 4™ ch-st from hook, 2 dc to next st (= 3 dc)
—*ch5, skip 5 ch-sts — 6 dc to each next 6 ch-sts —ch2 —1
dc to next st + ch3 (= ch-space = mid patt report) + 1 dc to
same ch-st as prev dc — ch2 — 6 dc to next 6 ch-sts — ch5 —
skip 5 ch-sts - 3 dc*, rep *-* 2 times more. End with 3 dc.
2" row: Beg with ch3 (= 1%t dc), 2 dc — *ch5, skip 5 ch-sts
from prev row, 5 dc — ch2 —skip 2 ch.sts + 1 dc, 5 dc to
ch-space (= mid patt report) + ch2 + 5 dc to same ch-space
—ch2 — 5 dc (skip first dc from prev row) — ch5, skip 5 ch-
sts from prev row — 3 dc*, rep *-* across the row. End with
3dc.

3" row: Beg with ch3 (= 1% dc) + 2 dc — *chb5, skip 5 ch-
sts + 1 dc from prev row, 3 dc — ch2 — 4 dc to prev row’s
next dec-clstr + 2 dc to last dc (= 6 dc) — ch2 — 2 dc to prev
row’s first dc + 4 dc (= 6 dc) — ch2 — skip 1 dc, 3 dc —ch5,
skip 5 ch-sts — 3 dc*, rep *-*, and rnd with 3 dc.




4™ row: Beg with ch3 (= 1% dc) + 2 dc, *ch5 — 1 dc to prev
row’s mid dc-clstr — ch2 — 6 dc to next dc-clstr, ch2 — 1 dc

+ ch3 + 1 dc — to same ch-space (= mid), ch2 — 6 dc to next
dc-clstr— ch2 — 1 dc to prev row’s mid st — ch5 — 3 dc*,

rep *-*, and end with 3 dc.

Rep rows 2 — 4 until runner measures approx. 120 cm/47.2

in, or you have used all the yarn.

Viking Heklegarn

Doilies 1406-10 and 11

Diameter no 10 approx. 14 cm
5.51in
Diameter no 11 approx. 13 cm
5.1in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball

White, 800 1 ball
(1 ball is enough for approx. 33 coasters no 10, or
approx. 25 coasters no 11)

You can also use some rest yarn for a coaster.

Crochet hook size 1,75 mm — US 4 — UK/Canadian 2

Crochet abbreviations:

ch (st) = chain stitch, slip stitch = slip stitch, sc =
single crochet, dc = double crochet, tr = treble, ctog =
crochet together

pc = picot

1 pc =ch3, 1 sc to top of prev st

8" rnd: *3 ctog dc to next 3 dc, ch2, 1 dc to first one
of the 8 tr, (1 pc, 1 dc to next tr) 3 times, 1 pc, 1 dc to
next ch-st, (1 pc, 1 dc to next tr) 4 times, ch2, 3 ctog
dc to next 3 dc*, rep *-* across the rnd, end with 1 st
to 1% dc beg of rnd.

Break yarn, and draw through the loop. Weave in both
ends on WS.

DOILY

Ch12, join into ring with 1 sl st.

15t rnd: 24 dc into ring

2nd rnd:*1 tr, chl to every dc, rep *-* across the rnd,
end with 1sl st to 1% tr beg of rnd (= 24 tr)

3" rnd: * 1 dc to tr, 2 dc to ch-st*, rep *-* across the
rnd, end with 1 sl to 1% dc beg of rnd.

4™ rnd: *1 sc to dc, ch8, skip 5 dc*, rep *-* across
the rnd, end with 1sl st to 1% sc beg of rnd.

5% rnd: 9 sc to each ch-space across the rnd, end with
1 sl st to 1% sc beg of rnd.

6™ rnd: Beg with 1sl st to 4™ sc,*2 dc to 4" sc in the
ch-space, 1 dc+ ch3 + 1 dc to next sc, 2 dc to next sc,
ch5*, rep *-* across the rnd, end with 1 sl st to 1 sc.
7" rnd: Beg with 1 sl st to 1 ch-space, *3 dc + ch3 +
3 dc to 3ch-space, ch2, 1 sc to mid st of 5 ch-sts,
ch2*, rep *-* across the rnd, end with 1 sl st to 1% dc
beg of rnd.

8™ rnd: Beg with 1 sl st to 1% ch-space, *6 dc with 1
pc between each dc in 3ch-space, ch3, 1 sc to sc,
ch3*, rep *-* across the rnd, end with 1 sl st to 1% dc
beg of rnd.

Break yarn, and draw through the loop. Weave both
ends on WS.

DOILY

Ch8, join into ring with 1 sl st.

15t rnd: 12 sc into ring.

2" rnd: *1 dc, ch5, skip 1 sc*, rep *-* across the rnd
= 6 ch-spaces, end with 1 sl st to 1% dc beg of rnd.

3rd rnd: Beg with 1 sl st to 1% ch-space, *5 dc to ch-
space, ch3*, rep *-* across the rnd, end with 1 sl st to
1%t dc beg of rnd.

4™ rnd: *1 dc to 2 first dc, 1 dc + ch3 + 1 dc to next
dc, 1 dc to next 2 dc, ch3*, rep *-* across the rnd, end
with 1 sl st to 1% dc beg of rnd.

5% rnd:*1 dc to each next 3 dc, ch3, 1 dc to ch-space,
ch3, 1 dc to each next 3 dc, ch2*, rep *-* across the
rnd, end with 1 sl st to 1% dc beg of rnd.

6% rnd: *1 dc to each next 3 dc, ch3, 1 dc+ch3+1 dc
to next st, ch3, 1 dc to each next 3 dc, chl*, rep *-*
across the rnd, end with 1sl st to 1% dc beg of rnd.

7% rnd: *1 dc to each next 3 dc, ch3, skip 1 ch-space,
8 tr with 1 ch-st between each tr to next ch-space, ch3,
skip 1 ch-space, 1 dc to each next 3 dc*, rep *-*
across the rnd, end with 1 sl st to 1% dc beg of rnd.

Viking Heklegarn

Towels 1406-12
Size: 30X45 cm
11.8x17.7in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball
White, 800 1 ball
Pair of knitting needles size 3mm - US 2 or 3 -
UK/Canadian 11

Crochet hook size 3 mm — US C/2 or D/3 — UK/Canadian
11

Gauge: 28 sts = approx. 10 cm/4 in over St st using
needles size 3 mm. Check your gauge to ensure success.

Note! All towels are worked with 2 strands of yarn (knit
yarns from both ends of the ball)

TOWEL WITH SQUARES



Using needles size 3 mm and double yarn, cast on 87 sts.

Work back and forth 6 rows in K3, P3 (end with K3). WS:

Knit all knit-sts, and purl purl-sts. After that work next 6
rows in P3, K3. Cont working in square patt until work
measures approx. 45 cm/17.7 in. Bind off.

TOWEL IN STOCKING STITCH

Using needles size 3 mm and double yarn, cast on 87 sts.
Work back and forth 12 rows in Garter st. Cont working
Garter st over first and last 8 sts, and St st over rem sts
until work measures approx. 41 cm/16.1 in. Work 12 rows
in Garter st over all sts. Bind off.

TOWEL WITH WAVE PATTERN

Using needles size 3 mm and double yarn, cast on 91 sts.
Work as foll: 1 selvage st (= knit every row), patt as
charted over rem sts, end with 1 selvage st. When work
measures approx. 45 cm/17.7 in, bind off. If you wish,
crochet sc round the towel.

WAVE PATTERN:

oo olblo
o o o o
[) o] |o [
oo olblo
repeat
o o o o
[) o]l lo [
ﬂr repeat i Beghere

end here

[] =knit (knit on RS, purl on WS)
[ol =1vo

B =5l 1 st, K2tog, psso

TOWEL IN GARTER STITCH

Using needles size 3 mm and double yarn, cast on 87 sts.
Work in Garter st until work measures approx. 45 cm/17.7
in. Bind off.

TOWEL WITH STRIPES

Using needles size 3 mm and double yarn, cast on 87 sts.
Work in patt as charted. When work measures approx. 45
cm/17.7 in, bind off.

STRIPE PATTERN:

\" V
V V Vv \"
\" V
V V \" \"
\" V
V V Vv \" - repeat
\" V
V Vv \" \"
\" V
V V Vv \"
\" V
V Vv \" \" -
N Y
repeat
end here Beg here
[] =knit (knit on RS, purl on WS)
=purl (purl on RS, knit on WS)
Viking Heklegarn
Wash cloths 1406-13
Size: 27X30 cm
10.6x11.8in

ALTERNATIVE YARN: Viking Heklegarn (100%
cotton), 100 g ball
White, 800 1 ball
Pair of knitting needles size 3mm-US 2 or 3 —

UK/Canadian 11
Crochet hook size 3 mm — US — UK/Canadian

Gauge: 28 sts = approx. 10 cm/4 in over St st using
needles size 3 mm. Check your gauge to ensure Success.

Note! All wash clothes are worked with 2 strands of
yarn (knit yarns from both ends of the ball).

WASH CLOTH WITH SQUARE PATTERN

Using needles size 3 mm and double yarn, cast on 75 sts.
Work back and forth 6 rows in K3, P3 (end with K3). WS-
row: Knit all knit-sts, and purl purl-sts. After that work
next 6 rows in P3, K3. Cont working in square patt until
work measures approx. 30 cm/11.8 in.

Crochet a loop to one corner: Chl10, and fasten with 1 sl st.

WASH CLOTH IN STOCKING STITCH

Using needles size 3 mm and double yarn, cast on 75 sts.
Work back and forth 12 rows in Garter st. Cont working
Garter st over first and last 6 sts, and St st over rem sts.
When work measures approx. 26 cm/10.2 in, work 12 rows
in Garter st over all sts. Bind off. Crochet a loop to one
corner: Ch 10, and fasten with 1sl st.

WASH CLOTH WITH WAVE PATTERN

Using needles size 3 mm and double yarn, cast on 75 sts.
Work as foll: 1 selvage st, work in patt as charted across
the row, end with 1 selvage st. Cont working as established
until work measures approx. 30 cm/11.8 in. If you wish,
crochet sc round the cloth.



Wave pattern: STRIPE PATTERN:

v v
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o o| |o o Y Y
v] [v v] [v L repeat
oo oo v v
repeat vi v vi Vv
o o o o v v
v] |v v] |v
o ol lo o v v
ﬂr 1\ v] [v vl [v -
end here repeat Beghere /]\ 1
repeat
. . end here Beghere
[] =knit (knit on RS, purl on WS)
[of=1vo [ =knit (knit on RS, purl on WS)

B =sl1st.K2tog, psso =purl (purl on RS, knit on WS)

WASH CLOTH IN GARTER STITCH
Using needles size 3 mm and double yarn, cast on 75 sts.
Work approx. 30 cm/11.8 in in Garter st. Bind off.

WASH CLOTH WITH STRIPES

Using needles size 3 mm and double yarn, cast on 75 sts.
Work in patt as charted until work measures approx. 30
cm/11.8 in. Bind off.



